SAT Improving Sentence Answers

Question 1: D

Explanation:
This sentence contains an error of modification. The introductory clause, "Hearing that the Statue of Liberty did not have a pedestal," cannot modify "campaign": a campaign to raise money cannot hear things. As it is Joseph Pulitzer who did the hearing, choices D and E initially seem plausible. Choice E, however, unjustifiably uses the past perfect ("had campaigned"), leaving D as the only correct choice. The correct sentence reads: Hearing that the Statue of Liberty did not have a pedestal, Joseph Pulitzer began a campaign to raise money for the construction of one.

Question 2: B

[bookmark: _GoBack]Explanation:
This sentence illustrates a comma splice, the incorrect use of a comma to connect two complete sentences. Choice B correctly uses a semicolon to coordinate two independent clauses and form a compound sentence (while at the same time keeping verb tenses parallel). The correct sentence reads: One of the most common types of mistakes that inexperienced physicians make is misreading symptoms; another one that occurs about as frequently is recommending inappropriate treatment.

Question 3: A

This sentence is correct as written. Therefore, the correct answer is choice (A).

Question 4: B

Explanation:
The problem with this sentence is that there is no noun that the underlined phrase modifies. Versions (A), (C), (D), and (E) also produce sentences with the same problem. The prepositional phrase in version (B) avoids this problem. The correct sentence reads: In the context of the editorial, the words "abrupt" and "blitz" are meant to place the redevelopment program in an unfavorable light.
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